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0 apple, there are o0 orangess ,/T

ges in three different ways.

an:

a) Write the ratio of apples to or

®OOOD SN e
. ' Dbbb Can you see all of your answers in the p

Write the ratio of apples to oranges in the form 1:
fliin? \ ;@ ©) Which ratio is in its simplest form? How do you know?

b) Compare answers with a partner.

icture?

www.thehessleacademy.co.uk




Learning Objective:
Share a quantity into a ratio
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Learning Objective:

Calculate a quantity in a ratio when one is
known and calculate ingredients needed
for reC|pes
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Year 10

Learning Objective:
Combine a:b and b: C mto a b C
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Learning Objective:
Solve algebraic ratio problems
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